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A 324,451 | H|8 302,395 | H|8 377,789 | H|8 7.3 | A4
x| g A 31,026 9.6 29,191 9.7 28,516 7.5 6.3 8.8
Noel = 37,890 | 11.7 37,138 12.3 67,769 | 17.9 2.0 | A44.1
73 Al L] 41 14,144 4.4 13,255 4.4 14,544 3.8 6.7 N2.8
Al AA A A5 23,746 7.3 23,883 7.9 53,225 | 14.1 A0.6 | AB5.4
A gk w &2 A 153,740 | 47.4 136,141 45.0 167,799 | 44.4 12.9 N8.4
| MEEHS 5,000 1.5 5,000 1.7 6,580 1.7 0.0 | A24.0
2 = 2 96,795 | 29.8 94,925 31.4 107,125 | 28.4 2.0 N9.6
EnA s 82,377 | 25.4 84,415 27.9 91,731 | 24.3 A2.4 | A10.2
CH R T 14,418 4.4 10,510 3.5 15,394 4.1 37.2 NB.3
X o oz S = = = = = = = =
UotZIHH 18,864 5.8 16,914 5.6 26,797 7.1 11.5 | A29.6
SSEMYorH 6,891 2.1 1,765 0.6 3,293 0.9 290.4 109.3
s - - - - - - - -
=52y 17,097 5.3 16,422 5.4 22,850 6.0 4.1 N25.2
BHES 41,565 | 12.8 54,618 18.1 71,863 | 19.0 | A23.9 | A422
71| AtEl=x]| 48,243 | 14.9 44,223 14.6 49,958 | 13.2 9.1 N3.4
| =24 3,356 1.0 3,388 1.1 3,489 0.9 A0.9 N3.8
< Sl bt 60,988 | 18.8 54,822 18.1 64,504 | 171 11.2 N5.5
2] Motz 2,732 0.8 3,534 1.2 4,205 1.1 | A22.7 | A85.0
Al 530S 25,097 7.7 22,310 7.4 31,469 8.3 12.5 | A20.2
TEYX| oL 46,234 | 14.2 32,054 10.6 42,997 | 11.4 442 7.5
. e & - - - - - - - -
= oflu|H] 7,467 2.3 7,392 2.4 11,036 2.9 1.0 | A32.3
7|t 45917 | 14.2 44 953 14.9 45328 | 12.0 2.1 1.3
bl 42,292 | 13.0 40,897 13.5 42,654 | 11.3 3.4 A0.8
=xal] 20,345 6.3 19,664 6.5 20,594 5.5 3.5 A2
M| ZAo|H 94,569 | 29.1 87,778 29.0 92,432 | 245 7.7 2.3
| MEXE 148,968 | 45.9 137,937 45.6 194,186 | 51.4 8.0 | ~23.3
XL ER} 1,732 0.5 1,820 0.6 1,820 0.5 N4.8 A48
2 2Em 348 0.1 413 0.1 4,013 1.1 | A15.7 | A91.3
L 724 5,374 1.7 5,014 1.7 5,650 1.5 7.2 N4.9
oflg|H| 27| et 10,823 3.3 8,872 2.9 16,440 4.4 22.0 | A34.2
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o 22382 5,000 1.7 5,000 2.0 6,580 2.1 0.0 | A24.0
B2 = 37 78,427 | 27.2 65,316 25.6 76,528 | 24.0 20.1 2.5
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s - - - - - - - -
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Al +53nE 24,330 8.4 21,595 8.5 30,611 9.6 12.7 | A20.5
FEYX| AN 42,384 | 14.7 30,906 12.1 39,820 | 12.5 37.1 6.4
= sty = - - - - - -
= ofjH|H] 7,467 2.6 7,392 2.9 11,036 3.5 1.0 | A32.3
7| et 42,827 | 14.9 41,902 16.4 42,266 | 13.3 2.2 1.3
bl 39,370 | 13.7 38,180 15.0 39,708 | 12.5 3.1 A0.9
E=valll 18,070 6.3 17,483 6.8 18,380 5.8 3.4 A7
M| ZAo|H 85,945 | 29.8 81,097 31.8 85,264 | 26.8 6.0 0.8
| MEXE 131,503 | 45.6 105,619 41.4 153,277 | 48.1 245 | A142
SXHEXL - - - - - - - -
NGRS 348 0.1 413 0.2 4,013 1.3 | A15.7 | A91.3
S 5,374 1.9 5,008 2.0 5,641 1.8 7.3 N4T
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A 36,374 | H|g 47,124 ClE=s 59,431 | H|g | A22.8 | A38.8
X og A = - - - - - - -
Mool = ¢ 18,006 6.3 17,515 6.9 28,834 | 9.1 2.8 | A37.6
73242 A 2] 475) 7,407 2.6 6,605 2.6 7,447 2.3 12.1 A0.5
Al QA A A 2] 5= 10,599 3.7 10,910 4.3 21,387 6.7 N2.9 | A50.4
A g m 2 A - - - - - - = =
MY eHZ - - - - - - - -
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g2 = 3 18,368 6.4 29,609 11.6 30,597 | 9.6 | A38.0 | A40.0
TR FE 17,725 6.2 29,107 11.4 29,563 9.3 | A39.1 | 240.0
SH R 643 0.2 502 0.2 1,034 0.3 28.1 | A37.8
A g A S = = = = = = - -
Yotz SHH - - - - - - - -
SSEM YN - - - - - - - -
s - - - - - - - -
253 - - - - - - - -
BHARS 25,802 9.0 39,278 15.4 49,327 | 15,56 | AB4.3 | A47.7
71| AtEISA| 2,865 1.0 2,932 1.1 3,007 | 0.9 N2.3 N
2A - - - - - - - -
s S sl 2t - - - - - - - -
2| sezady - - - - - - - -
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- o7& - - - - - - - -
=1 oy - - - - - - - -
7| et 3,090 1.1 3,051 1.2 3,062 | 1.0 1.3 0.9
ol 2,922 1.0 2,717 1.1 2,946 | 0.9 7.5 N0.8
E=vall 2,275 0.8 2,181 0.9 2214 | 0.7 4.3 2.8
M| d4olH 8,624 3.0 6,681 2.6 7,168 | 2.3 291 20.3
o | RHEXE 17,465 6.1 32,318 12.7 40,909 | 12.8 | ~46.0 | A57.3
SAIUEX} 1,732 0.6 1,820 0.7 1,820 | 0.6 A48 N4.8
2 2xwe - - - - - - - -
L 71 2 - - 6 0.0 9| 0.0 |A100.0 |A100.0
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(A7l A | =o | Zel | Az
XsHE X a4F -
00 1,046 | 2,300 | 1,046 | 523 523
xsHE, X435
> o0 1,742 1,742 | 471 | 141 | 1,130 1,650
X|sHH = X|ARRE

I5h 3, XI433 2,991 | 2,900 | 2,992 | 363 - | 2,629 1,700

2,400m

o B 1,307 1308 | 916 - | 302

NEESE S£0, 323.1ha 1,043 1,043 | 522 | 156 | 365

25183

e L=1,500m 1,093 1,993 - - | 1,993

P\ _ B

o L=2,000m 2,989 2,989 500 | 2,489

24

= =x+2

HE s¥d L=1,000m 1,495 1,495 - - | 1,495

x2S

=n4

=220 L=800m 1,196 1,196 - - | 1,196

o

== B

i L=300m 1,500 1,500 - ~ | 1,500

] ol shd2l e 37

e ek = aidtelel s 2,743 | 885 | 2,742 | 1,371 - | 1,371 14,138
L=1,000m

s S A|H 1=3,400m

Solag S L8 21 1m 3,491 | 1,670 | 3,490 | 2,004 | 279 | 1,117 44,373

== Zotge|~d gz

] Z+Al - —
MUY Z5.000m 2,911 | 5500 | 2,911 | 1,746 1,165
. S0l ygASIE o 3

sE4 SHABASSAAIN | 5701 | 0406 | 2720 | 1,904 - | 86
DA, T2l 14 2,230 | 651 | 2,230 | 1,338 | 178 | 714
D, T2 14 1572 | 1,608 | 1572 | 943 | 126 | 503
L=60m 1,500 1,500 - - | 1,500 1,000
L=700m 1,000 | 100 | 1,000 = ~ | 1,000 1,000
L=300m 1,000 1,000 - - | 1,000
L=650m 1,434 | 2,108 | 1,434 | 717 - | 77 3,540
L=1,780m 3,000 | 9,100 | 3,000 - - | 3,000 4,900
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